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(v) FA® FTT & [forg JralcT I oD TG HiHd 8/

Instructions :-

(i)  All questions are compulsory.

(i)  Read each question carefully.

(ifi) Q. Nos. 1 to 5 are objective type. Do as direcied.

(iv) Internal options are given in Q Nos. 6 to 26.

(v}  Marks allotled to each question are mentioned against each question.
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g1 el fdmed g Ao IR gideT | ey — (5X1=5)

(i) am™+a"®1 A BT —

(a) amn (by amn
() amn (d am-a"
(il eaw T A firemaq oa 8 & —
(a) 1 by 2
¢y —1 (dy o
(i) o FEROT B A |WER B A —
(a) b?-4dac>0 (b) b?-4ac<0
(¢) b?—4dac=0 (d) a?-4bc>0
(iv) HaR S0 6, 10, 14, 18 .o DT ATell Ig SMIT |
(a) 20 by =22
(¢) 19 (dy 21
(v) 1240 &T 65% SN —
(a) 810 (b) 806
(c) 8060 d) 510

Choose the correct option and write it in your answer book -

() Valueofam™=anis-

(a) am by am"
{c) am™n (d} am-a"
(i) The degree of linear equation is -
(@ 1 by 2
{cy -1 (d o0
(iiy The quadratic equation have two equal roots if -
(a) b?-4ac>0 (b) b?-4ac<0
(c) b?-4ac=0 (d) a?-4bc>0
{iv) Nextterm of A.P6,10,14,18is .................
(a) 20 by 22
(c) 19 (dy 21
(v) 65%of1240is -
(a) 810 (b) 806
{c) 8060 (d) 510
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g2 R el @ gfed &1 — (5%1=5)

(iv) Q& STRIGRT H 7T BIOT e BT T |
(v} 19 Ueaoll o S n fawA 81, O ARG BT % |
Fill in the blanks -

(i) Coordinates of OrigiN IS ... e e
(i) LSS = P = o e et e a e
(i) Themid pointsof aclassarecalled ...,
(iv) Anglein asemiCirCle iS @ ......ooieiiiiiiii e

(v) When the number of observation n is odd, median is given by
......................... observation.

u3 fr=faRed 9w /oy fafee — (5x1=5)
() RIS &7 9T BT AJUA G T &7 AT BION & T 6 SRR Sl o |
(iy e wHagd A T Y w9 B B
(iiy g (5. &) yem =geIfer # R 7|
(iv) IfT TR O @M 8, a7 GHIT Hd™g & 3Hd &1 81 o |
(v) <ot wEn, wef g 9 ol g8 Bear ) o9 s 8
Write True/ false in the following -

(i} An exterior angle of a triangle is equal to the sum of the two interior
opposite angles.
(i) All sides of a rhombus are equal.

(iiiy Point (-5, 6) lies in the first quadrant.

(iv} If there are parallel straight lines then the system has infinite no. of

solutions.
(v) A tangent to a circle is perpendicular to the radius through the point of
contact.
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54 W@ SR aE — (sxc1=5)

wH & ks S
() =7 @ e @ 5
(i) sin@ (by ad
(i) cos60° (c) V3
{iv) tan® (d) 1/cosecd
(v) tan60° (e) sinB/cosb

Match the columns —

Golumn A Column B
(i) Volume of cube (a) 5
(i) sind (b) ad
(i) cos60° (c) V3
{iv) tan® (d) 1/cosecd
(v) tan60° (e) sinB/cosb
U5 YD Dl Uh g /g H SR fafay — (5%1=5)

(i) onws foad TR © B0 87

(i) o feRTe 20 — 30 H 9 AT 7 9= AW forE |
(i) STIUR 15 : 20 @ WRewH wY fordl |

(iv) o7 &1 Had IS1 Sirdr w1 sl 87

(v) 5, 12, 16, 18, 20, 25, 10 & ARAD AT T |

Write the answer in one word/ sentence of each -

(i) How many types of Data are there?

(i) Write down the lower limit and upper limit of class interval 20 — 30.
(iiiy Write the simplest form of ratio 15 : 20.

{iv) What is the longest chord of the circle?

(v} Find the median of 5, 12, 16, 18, 20, 25, 10.
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[211]0-10

HE ST ARl —
(243)2/8
Find the value —

(243)25

GTWZOR
THIHROT B BRI —

x—-12=7
Solve the equation —

x—-12=7

SUTT ® WReww W H ford |
45 dos 2 e
Express the ratio in simplest form —

45 sec : 2 min

3rerar / OR

H ST BRI —
1250 =7 16%

Find the value —

16% of 1250
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ys g g4 Als, —1) T B(—6,11) @ = @1 T 10 9T | (2)

Find the distance between A(-6, -1) and B(-6,11).

3rerar / OR

g @Y RSl @ &Fwdl BT JgUTd F BRI e FAd] T ol B T g
25 W T 5 TN B

Find the ratio of the area of two similar triangles if one pair of their
corresponding sides are 2.5 cm and 5.0 cm.

Y9 A9 o @RI — @)
2 sin® 30° - 2 cos? 45° + tan? 60°
Find the value —

2 sin® 30° - 2 cos? 45° + tan? 60°

STWZOR
Eﬂ%sin9=%?‘rcosﬂ=? Bl O cotd Tsechd & A T Bl |

If sin® = % cosb = g then find the value of cotd & secH.
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g10 0 fiwel & Igatd i dRI — (2)
18, 25. 18, 16, 25, 19, 18, 25, 16, 19, 25

Find the mode for following data-

18, 25, 18, 16, 25, 19, 18, 25, 16, 19, 25
3rerar/ OR
Ue fHadT U6 IR STl WY §f 9T 3 @ Wiaadr 9id & |
Find the probability of occurrence of tail when an unbiased coin is tossed.
Y11 9gAS 7x% —3x+4 T 3x% + 5x% — 4x + 7 FT AV )
Add the following polynomials —

7x%2 —3x+4and 3x3 +5x% —4x+7

Ferar/ OR

TA PN T SR D GG w9 H forar —
82 x 63 x (15)2
Simplify and express the result in the exponential form-

82 x 63 x (15)?
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g12 [ GAFY @ U, IR I AR UG HHEL 5, 10 T 30 B | URKI US M Wl (3)

The first, second and fourth terms of a proportion are 5, 10 and 30 respectively.

Find the third term.

irar/ OR
T YRR AUAT AIRASH Fa 75003 BT 35% HIo W @ dral o | fdhaar g1 a8
HIo IR g B 87

A family spends 35% of its monthly budget of ¥ 7500 on food. How much do

they spend on food?

U13 TP JRIG (9T 140 TS Ui &I 203 & o9 B, IHB] DA 25% o7 | fheae
SUY 98 BT Y HHET TP (3)
A book agent sold 140 books at ¥20 each, his commission was 25%. How

much money did he earn as commission?

grerar / OR
8000 ¥ T 2 IY BT 5% TP TSl B &3 F AHg(G Tl 7 B |

Calculate the compound interest on 8000 X for 2 years at 5% per annum when

the interest is compounded annually.

[211]o0-10 Page 8 of 16

hitp://www._mpboardonline.com



Y14 ABCD U& TR sl &1 At £A = 80° g1, a1 I S0l &7 719 ISy | (3)

ABCD is a parallelogram. If ZA = 80°, find the measure of the remaining angles.

Ferar/ OR

Qo S @ DIV &1 U 2 0 3 1 5 & | B[S @ OF1 $IvT 91 a1 |
The angles of a triangle are in the ratio 2 : 3 : 5. Find the three angles.
Y15 g o — V24 + V81 -2.33 @)
Simplify - ¥24 + /81 - 2.¥/3
Jyar/OR
9508 (X—1) 9 X2+ X + 1 6T [UHH S DY |
Find the product of polynomial (x — 1} and x + x + 1.
g16 1050% DI A,BaCH3:5:7 & Jqurd # difey | (4)
Divide 1050 among A, B, Cintheratio 3:5:7.
Jyar/OR
Qe Taeneil ¥ 3800 T BT HeR TRIGT 9 99 WX 50 ¥ AR o g | afe sed
4400 ¥ | TR <91 O IA15¢ I fhemT gfereng o g

A retailer buys a cooler for ¥ 3800 and overhead expenses on it are T 50. If he

sells the cooler for ¥ 4400, determine his profit percent.

[211]o-10 Page 9 of 16

hitp://www._mpboardonline.com



¥17 IS G g D ohdal B oAdls 16 WHI TRAT 9 SIGT B dw A g 6 WAL Bl dl

qa &) g ST | (@)

If the length of a chord of circle is 16 cm and the distance of the chord from the

centre is 6 cm. Find the radius of the circle.

3erar/ OR

o et @ @t @ FkEne (3—1) (10, 7) R (5, 3) § e @ = @ ke

T B |

The co - ordinates of the vertices of a triangle are (3, -1), (10, 7) and (5, 3).

Find the co — ordinates of its centroid.

918 35 T e @ g9 @) uRR TR % d I AR (n=2) (@)

7

Find the circumference and area of a circle of radius 3.5 cm. (‘n = %)

3rerar / OR

Qe el fSTe 3 105 1. © &1 TR &%el <RIl ATIe ST o |

Find the surface area and the volume of a sphere of radius 10.5 cm.
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v1e

w20

gfe sin6=2—75 &, O cosO T tan® &1 A1 ST BN |
If sinf = 2—75 , find the value of cos6 and tan®.

Fear/ OR

A ST BRI —

cos43° sec32°

sind’7° cosec58°

Find the value —

€0s43° sec32°®

5in47° cosechs”

20 foenfeiat & el wem e & uradie 9 § —

10, 15, 9, 16, 25, 30, 14, 8, 29, 15, 4, 7, 12, 13, 14, 18, 19, 16, 29, 7

@

4 BT g IICNTA oIy SURITT gl B oIy Udh IRIRTT s TR 9151 |

The marks obtained by 20 students in a class test are given below-

10,15, 9,16, 25, 30, 14, 8,29, 15, 4,7, 12,13, 14,18, 19,16, 29, 7

Construct a frequency distribution table with a class size of 4.
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GTWTZOR
=T Tl & AT ST BRI —
xi 2 5 8 10 12 15

i 453 5 2 1

Find the mean of the following data-
xi 2 5 8 10 12 15

i 4 53 5 2 1

¥21 P 2ol H 4 T, 3 Bl R 2 IHS 8 vl O H F U A Frpren W ©,
RIS T 5 el T Te — @)
(i) <t 3T A E
(i) T T B AE B
A bag contains 4 red, 3 black and 2 white balls. A ball is drawn from the bag.
Find the Probability-
(i} thatitis ared ball

(i) itis not black
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Fgar/ OR

gfg st 5, 7, 9, X, 11 T 12 T AFY 9 &, Ol X &1 A ST BN |

If the mean of 5,7, 9, x, 11 and 12 is 9, then find x.

y22 = afiawer fea s a0 (5)

10x + 4y =20
13x — 4y = 66
Solve the following system of equation.
10x + 4y = 20
13x — 4y = 66
grerar / OR
feamd TR 4x2 + 4x +1 =0 & 9 @O qF &) e | & DRI |

Solve the quadratic equation 4x% + 4x + 1 = 0 using quadratic formula.

¥23 T agqel ABCD & vo= ifoig fo/es AB = 5.5 ¥¥1, BC = 3.5 @+, CD =4
T, AD =5 991 iR LA=45°| 51 & axor A foray | (5)
Construct a quadrilateral ABCD when AB = 5.5cm, BC = 3.5cm, CD = 4cm, AD

=5 cm and £A=45°. Also write the steps of construction.
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grerar / OR
4 TR, 5 THI. TRIT 6 T oIl @ Yab 9ol @1 IodT Hioig | 59 B @ aiRge
B AT DI |

Construct a triangle with sides 4cm, Scm and 6¢cm. Draw a circumcircle of this

triangle.

U24 UH g & @S & dahe A0 BRI e gt 6 99 8, wEfd — ()
(@) @ W T PIT 35° T |

(b) =9 B FEE 22 T T

Find the area of sector of a circle whose radius is 6 cm when -
(1) The angle at the centre is 35°.

(2) The length of arc is 22 cm.

s/ OR

U BFT 61 JSOIT £F%al G AT S Rl (ST ofdls = 15 W1, dIgls = 10
4. 9 SaE = 5 WAL B

Find the volume and surface area of cuboid whose length = 15 cm, breadth =

10 cm and height = 5 cm.
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"25

Y26

gaattaT g w—

sinA

1+cosA

1+cosA

Prove the

sinA

sinA
identity-

1+cosA

1+cosA

sinA

= 2cosecA

= 2cosecA

girar/ OR
o olgad #e @1 Be AB U dftel ad Wk Tl B | T g P, W W @ g B

ure fdg W 200 A1 & g W B, (F BT LAPB = 30° g9 ® W5l f9g A e A

Be @ U g ©| 5 @) B AB @1 @€1S 3T BRI |

A vertical flagstaff AB stands on a horizontal plane. At a point P which is 200m

away from its foot, the top of the flagstaff makes an angle ZAPB = 30°, where

A is the top of the flagstaff. Find the length AB of the flagstaff.
fref) faermera @) war IX & 30 faenfRigt & wR &1 deq A fear 81 arfesl & forg

UF I forF 99e —

o

45 — 50

50 — 55

55 — 60

60 — 65

65 — 70

12

30

The following is the frequency distribution of weights of 30 students of class IX

of a school. Draw a histogram to represent the data-

Class

45 - 50

50 - 65

55 - 60

60 - 65

65 - 70

Total

Frequency 3

7

12

5

3

30
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Fgar/ OR

e Yol gRT A= auf § o 7 gel &1 fgeRer e 8 —

s

1997 | 1998 | 1999

2000

2001

2002

TR T gEll B =

400 | 450 | 700

750

900

1500

4700

TR gl Bl S B oI¢ Th gUg = a7l |

The number of trees planted by an agency in different years is given below-

Years

1997

1998

1999

2000

2001

2002

Total

Number of trees planted | 400

450

700

750

900

1500

4700
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